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1.(2 points)

Dividends paid reduce the net income that is reported on a company’s income statement.

(A)True,

(B) False.

2. (2 points)

Additional funds needed (AFN) are typically raised using a combination of notes payable, long-term debt,
and common stock. Such funds are non-spontaneous in the sense that they require explicit financing
decisions to obtain them.

(A) True.

(B) False.

3. (2 points)

Since the ROA measures the firm's effective utilization of assets without considering how these assets are
financed, two firms with the same EBIT must have the same ROA.

(A)True.

(B) False.

4. (2 points)

In general, if investors regard a company as being relatively risky and/or having relatively poor growth
prospects, then it will have relatively high P/E and M/B ratios.

{A)True.

(B) False.

5. (2 points)

If you were restricted to investing in publicly traded commeon stocks, yet you wanted to minimize the
riskiness of your portfolio as measured by its beta, then according to the CAPM theory you should invest
an equal amount of money in each stock in the market. That is, if there were 10,000 traded stocks in the
world, the least risky possible portfolio would include some shares of each one.

{A) True.

(B) False.

6. (2 points)

The beta coefficient of a stock is normally found by regressing past returns on a stock against past market
returns. One could also construct a scatter diagram of returns on the stock versus those on the market,
estimate the slope of the line of best fit, and use'it as beta. However, this historical beta may differ from
the beta that exists in the future.

(A) True.

(B) False.

7. (2 points)

Forward contracts are generally standardized instruments, whereas futures contracts are generally tailor-
made for the 2 parties of the contract.

{A) True.

(B) False.
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8. (2 points)

The price of a call option increases as the risk-free rate increases.
(A) True.

(B)False.

9. (2 points)

A riskless hedge can best be defined as a hedge in which an investor buys a stock and simultaneously sells
a call option on that stock and ends up with a riskless position.

(A) True.

(B) False.

10. (2 points)

Foreign bonds are bonds seld by a foreign borrower but denominated in the currency of the country in
which the issue is sold.

(A) True.

(B) False.

11. (3 points)

Assume that OpenSU Equipment commenced operations on January 1, 2020, and it was granted permission
to use the same depreciation calculations for shareholder reporting and income tax purposes. The company
planned to depreciate its fixed assets over 15 years, but in December 2020 management realized that the
assets would last for only 10 years. The firm's accountants plan to report the 2020 financial statements
based on this new information. How would the new depreciation assumption affect the company’s financial
statements? -

(A) The firm's cash position in 2020 and 2021 would increase.

(B) The firm’s operating income (EBIT) would increase.

(C) The firm's reported 2020 earnings per share would increase.

(D) The firm’s reported net fixed assets would increase.

(E) The provision will increase the company's tax payments.

12. (3 points)

Which of the following factors would be most likely to lead to an increase in nominal interest rates?
(A) The Federal Reserve decides to try to stimulate the economy.

{B) Households reduce their consumption and increase their savings.

(C) A new technology like the AT has just been introduced, and it increases investment opportunities.
(D) There is a decrease in expected inflation.

(E) The economy falls into a recession.

13. (3 points)

Assume the following: The real risk-free rate is expected to remain constant. Inflation is expected to be
2% next year and then to be constant at 1.5% a year thereafter. The maturity risk premium is zero. Given
this information, which of the following statements is CORRECT?

(A) The yield curve Tor U.S. Treasury securities will be upward stoping.

(B) If the expectations theory holds, the Treasury bond yield curve will never be downward sloping.

(C) A 5-year corporate bond must have a lower yield than a 7-year Treasury security.

(D) The real risk-free rate cannot be constant if inflation is not expected to remain constant.

(E) This problem assumed a zero maturity risk premium, but that is probably not valid in the real world.
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14. (3 points)

A highly risk-averse investor is considering adding one additional stock to a 4-stock portfolio, to form a
5-stock portfolio. The four stocks currently held all have beta = 1.0, and they are perfectly positively
correlated with the market. Potential new Stocks A and B both have expected returns of 9%, are in
equilibrium, and are equally correlated with the market, with r = 0.65. However, Stock A's standard
deviation of returns is 5% versus 7% for Stock B. Which stock should this investor add to his or her
portfolio, or does the choice not matter?

(A) Either A or B, i.e., the investor should be indifferent between the two.

(B) Stock A.

(C) Stock B.

(D) Neither A nor B, as neither has a return sufficient to compensate for risk.

(E} Add A, since its beta must be lower.

15. (3 points)

Which of the following statements is CORRECT?

(A) For a project with normal cash flows, any change in the WACC will change both the NPV and the IRR.

(B) To find the MIRR, we first compound cash flows at the regular IRR to find the TV, and then we
discount the TV at the WACC to find the PV.

(C) The NPV and IRR methods both assume that cash flows can be reinvested at the WACC. However,
the MIRR method assumes reinvestment at the MIRR itself,

(D) One advantage of the NPV over the IRR is that NPV assumes that cash flows will be reinvested at the
WACC, whereas IRR assumes that cash flows are reinvested at the IRR. The NPV assumption is
generally more appropriate. :

(E) Iftwo projects have the same cost, and if their NPV profiles cross in the upper right quadrant, then the
project with the higher IRR probably has more of its cash flows coming in the later years.

16. (3 points)

Which one of the following statements is most CORRECT?

(A) Real options can reduce the cost of capital that should be used to discount a project's expected cash
flows.

(B) The option to switch the type of fuel used in an industrial furnace to lower the cost of production is
not a real option.

(C) An increase in the cost of obtaining the real option increase the value of a real option.

(D) Real options are more valuable when there is very little uncertainty about the true values of future sales
and costs.

(E) Real options change the size, but not the risk, of projects' expected NPVs.

17. (3 points)

Which of the following statements is NOT CORRECT?

(A)After a 3-for-1 stock split, a company's price per share should fall, but the number of shares outstanding
will rise. '

(B) If a firm repurchases some of its stock in the open market, then sharcholders who sell their stock for
more than they paid for it will be subject to capital gains taxes.

(C)If a company has an established clientele of investors who prefer a high dividend payout, and if
management wants to keep stockholders happy, it should not follow the strict residual dividend policy.

(D)If a firm follows a strict residual dividend policy, then, holding ali else constant, its dividend payout
ratio will tend to rise whenever its investment opportunities improve.

(E) Investors may interpret a stock repurchase program as a signal that the firm's managers believe the
stock is undervalued, or, alternatively, as a signal that the firm does not have many good investment

opportunities.
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18. (3 points)

Which of the following statements is most CORRECT?

(A)Not all target firms are acquired by publicly traded corporations. In recent years, an increasing number
of firms have been acquired by private equity firms. Private equity firms raise capital from wealthy
individuals and look for opportunities to make profitable investments.

{B) Leveraged buyouts (I.LBOs) occur when a firm issues equity and uses the proceeds to take a firm public.

(C) Acquiring firms send a signal that their stock is undervalued if they choose to use stock to pay for the
acquisition.

(D)In a liquidation, the firm's existing stockholders are given new stock representing separate ownership
rights in the division that was divested. The division establishes its own board of directors and officers,
and it becomes a separate company.

(E) The smaller the synergistic benefits of a particular merger, the greater the scope for striking a bargain
in negotiations, and the higher the probability that the merger will be completed.

19. (3 points)

OpenSU recently completed a 4-for-1 stock split. Prior to the split, its stock sold for $200 per share, If the
firm's total market value increased by 2% as a result of increased liquidity and favorable signaling effects,
what was the stock price following the split?

(A) $38.22

(B) $49.02

(C) $51.00

(D) $51.05

(E) $55.00

20. (3 points)

A 6-month put option on OpenSU Corp.'s stock has a strike price of $50.5 and sells in the market for $11.2,
Smith's current stock price is $45. What is the option premium?

(A)$5.5

(B)$5.6

(C)$5.7

(D)$6.0

(E) $6.2

S FARBREAHELTL)

1. (10 points) '

Managerial compensation can be used to encourage managers to act in the best interest of stockholders.
One commonly cited tool is stock options. The idea is that if management has an ownership interest in the
firm, they will be more likely to try to maximize owner wealth, A study performed at Harvard Business
School indicates that the total return to shareholders is closely related to the nature of CEO compensation;
specifically, higher returns were achieved by CEOs whose pay packages included more options and stock
components. However, this may not be the best way to encourage managers to act in the stockholders’ best
interest. Why? Please state clearly at least two possible explanations.

2. (10 points)

(a) (5 points)

What is quantitative investing? The efficient-market hypothesis (EMH) is divided into three categories:
weak, semi-strong, and strong, depending on the level of information that is already reflected in the prices
of assets. What level of market efficiency is best for quantitative investment strategies?

(b) (5 points)

Please define what Active ETF and Passive ETF are, respectively.
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3.(10 points)

OpenSU company is considering a new project for $10,000 million at t=0. Because this is a green project,
OpenSU is applying for the government tax reduction program. The after-tax cash flows generated will
depend on whether the application is approved and there is a 50-50 chance the application will pass. If it
passes, after-tax cash flow will be $3,500 million per year for the next 5 years. If it doesn’t pass, the after-
tax cash flows will be §1,800 million per year for the next 5 years. The project’s WACC is 10%. If the tax
is not passed, the firm has the option to abandon the project 1 year from now, in which case the property
could be sold to net $6,600 million after tax at t=1. What is the value of the abandonment option?

{Note:

#*#*PVIF(r, n) is defined as the present value of $1 to be received after t periods; PVIFA(r, n) is defined as
the present value of an annuity of $1 per period for t periods; PVIF(0.1, 1)=0.91; PVIF(0.1, 2)=0.83;
PVIF(0.1, 3)=0.75; PVIF(0.1, 4)=0.68; PVIF(0.1, 5)=0.62; PVIFA(0.1, 5)=3.79
SIS R kR R )

4. (10 points)
The new CFO of OpenSU wants to evaluate whether to increase the debt ratio. The financial information

of OpenSU is described as follows:

Sales: $80,000 |
Operation costs: $45,000
Year-end assets: $50,000
Debt ratio: 20%

Interest rate on the debt: 6%
Tax rate: 30%

The new CFO wants to use a 40% debt ratio, Assuming that sales, operation costs, and total assets would
not be affected, the firm’s interest rate will increase to 7%, and the tax rate will decrease to 28%,
respectively. Please help the new CFO calculate how much the ROE would change in response to the
change in the capital structure. (Note: *** 3532 75} B8 » & & £ ¥ T3 E)

5. (10 points)

(a) (5 points)

OpenSU has a beta of 1.4 when the market is in equilibrium, and the required return on the stock is 12%.
Meanwhile, the required return on an average stock is 10%. Now, the required return on an average stock
increases to 15%. Neither betas nor the risk-free rate change. What would OpenSU’s new required return

be? (Note: *** 5 ¢ Flst Kz » F B £ o)

(b} (5 points)

The main products of OpenSU are exported to the European Union. The CFO found that OpenSU’s carbon
emissions were too high and did not comply with government and international regulations.

Please define what carbon tax is and what impact carbon tax has on company operations. Besides reducing
carbon emissions by optimizing manufacturing processes, what else can you do to help your company
reduce carbon border tax if you are a CFO?
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